simplify each expression:
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Write each number in scientific notation:
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Write each number in standard notation:
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Evaluate and write your answers in scientific notation:
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True or falseT These are written in scientific notation: Circle the letter T=tr

21.5.00 x 10¢ 22.15.6x 102

19. 5.00 20. 1.56x 10
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Word problems: Decide whether to use multiplication, division, addition or subtraction to solve:

23. The world population was about 8.66 x 105. The population of the United States was about
2 x 10*. About how many times larger is the world population than the populétion of the
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